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G us—3A/PART-A
TGS 9 — (I IS 1 W 28) '

Multiple Choice Questions - (Question Number 1 to 28)

1 25° 9 AT 719 B@Rf — . (1)
Radian measures of 25° is - .
7_1'! 314 3 2
@ o ® = © = @ =
U2  sin765° &AM & — ()

The value of sin 765° is -

@ V2 ® 2 © = @ X

93  TOiR 20 5,25, 125, 1 1037 U § — , (1)
The 10" term of G.P. 5, 25, 125......... is -
(a) 510 (b) 58 (c) 512 (d) 56

W4  a,=(n-1) (2-n) (3+n) ERT IRART a1 o1 204 ug war 2?2 ()
What is the 20" term of the sequence defined by a, = (n-1) (2-n) (3+n)?
(a) 7866 (b) 7896 (c) -7866 (d)  -789%

¥5 @AM - : (1)
The value of 18 is -
(a 20320 (b) 40320 (c) 40810 (d 41320

U6  53C, BT WH BN - ‘ (1)
The value of 52C, is -
(@) 27072; (&) 250150 (c) 225120 (d 230180

: =39 PT A & — -y

g_, The value’df);f?i'v-".ag is - E E )

@ 1 e 6 - © i @ - [«
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9.8

9.9

9.10

9.1

¥.12

q.13

U.14

U.15

9.16

.17

7.18

9.19

.20

u.21

oy G f( = 25— 57 £(:3) BT 7 2wy —
The value of f (-3) is defined function f(x) = 2x — 5.

(@ -9 (b) -10 © 1 ”
WG={7,8,9}$wﬁwv§mﬁqﬁmg_

The number of all subsets of the set G = {7, 8,9} is -

(@ 3 by 6 © 7 )
WW3X—4y+7=03ﬁ? Ix—dy+5=03 dg B g0 B -

 The distance between the parallel lines 3x —4y +7 =0 and 3x -4y + 5=01is -

@ 2 ® © * @
R wr aRg —
Fill in the blanks -
FHR AR @7 ONTR AT B W T G
Relation between AM. and G.MLiSs......oeviiiniinieiiiiiiiiiiniin
iR S 01, 0001, .000001.. T HIRIFTIT o g1
Common Ratio of the G.P. - .01, .0001, .000001 is...................
A n(A) =p T n(B) =q &, W n(AXB)=.oeciininnn, LB
If n(A) = p and n(B) = q, then n(A X B) is =....ccovrnniiinninnenns
JRARND GET 3 B T errrrrrrrornres < | SO g
The square root of real number 3 is................ and. .. . svsssmaea
sin 3x = % |
The value of sin 3x 1s ..................................................
TR @ y = 2x + 3 Pl YA ... B
The gradient of a straight line y = 2K+ 308 iniieneniieianenie
[8— 15 &t AF... z
The value of B—Ls.......... v e S S g R
2|

A (242, p-2) = (0,3) &, T p BT A
If (z+2, p-2) = (0, 3), then the value of PiS....ceveveenrrmmmnnnieeeniees —

fy AgATHD U —
Very short answer type questions .

famgall (1, -1) T (3, 5) ¥ o ATl Y1 &1 wHigeer feran |
Write the equation of the liné passing through the points (1, -1)and (3, 5).
6 Yo wg o1 A 4 aeferg |

Convert 6 radians into degree measure.

mﬁamrfmmq—

Find the value -
in?= 4 cos? X — tan?2
sin’Z + cos’ - — tan® J

-11

G| -

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

()
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g.22

g.23

H.24

9.25

9.26

.27

9.28

929

7.30

U3

9.32

%33

. .34

U.35

¥.36

"37

TR x2 4 x 2= 0 F1 &l WYy Wy w0 forfw |

Write the solution set of the equation x? + x — 2 = 0 in Roster for'm. .
TONR At T BTN TG 2,8, 320 TG T 1310727 [S]% =]
Which term of the G.P. 2, 8, 32.......... upto n terms is 1310727 EI

afenc, = ne,, @ nCy, T PRI
If ncg = nCB, then find nCU.
“ALLAHABAD” ¥ & 9i6R} & 9 aret srerdl o) e 1 I |
Find the humber of permutations of the letters of the word “ALLAHABAD".
g 4x +i(3x - y) = 3 + i(-6) el x 3R y arifdp weTt ®, 74 x 3R y BT |
If 4x +i(3x - y) = 3 +i(-6) where x and y are real numbers, then find the values of x and y.
X 2 5 1
Hﬁ‘{ (;"‘ 1,y—;) = (;, ;), ﬁT X TR y?ﬂﬁ ml
X 2
If (5 +1y- ;) = G, i).-then find the value of x and y.
TONRR &t 0.15, 0.015, 0.0015.d........ BT 2091 IS T BT |
Find the 20™ terms of G.P. 0.15, 0.015, 0.0015............ R
9ue—q /PART-B

YRS U1 (T AP 29 ¥ 40)

Short answer type questions —I (Question Number 29 to 40)
(AUB)Y & fore Sugan 34 s i |

Draw appropriate Venn diagram for (AUB)'.

afe X={a,b.c,d} 3R Y={(f.b,d, g}, q XN YT AT

FindX NY,ifX = (a,b,¢,d}and Y = {f, b,d, g).
wwﬁﬁwwaﬁmmﬁéowmaﬁﬁammwnﬁmawrs‘mawm%|

Find the radius of the circle in which a central angle of 60° intercepts an arc of length 37.4 cm.
sin 15° @7 A ST BT |
Find the value of sin 15°.

5 wgd ol 4 el ¥ A 3 TES R 3 AR H A T b o b &
In how many ways can a team of 3 boys and 3 girls be selected from 5 boys and 4 girls?
gfy n-1p,: "p, =1:9,a n T T

Find ‘n’, if " 'P;: "R, =1:9.

AgSTId g9 — 11

Short answer type questions - IT
af A={1.2,3,4,56),B={2468} %, al A-BaiR B- A 5@ BT

={2,4,6,8),thenfind A-Band B - A,

IfA={1,234,56).B
uﬁP:{l,z},aﬁwgﬁqupxPﬁma%m|

IfP = {1, 2}, then find the set P X P X P. - E
AR G=(7,8) IR H=(5,4.2).7 GxH3R Hx G o1 #ifdry |
IfG=(7,8) and H= (54,2}, then find GXHand Hx G. &

(1)
(1)
(1)
(1)
(1)

(1)

(1)

(15)
(1.5)
(1.5)

(15)

@
@

@)
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9.38

9.39

v.40

.41

q.42

u.43

H.44

U.45

Rrg B —
Prove -

sin 5x—2 sin 3x + sinx

cosSx—cosx _ _ tanx

(5-3)° Pl a+ibd wY § Faw HR |

Express (5 - 3i)? in the form of a + ib.

T TURR A § drewr o 24 @ 6af ug 192 & A 104 ug s

In a G.P, the 3™ term is 24 and the 6" term is 192, then find the 10™ term.
wvs—d /PART-C

A ITHS T — (A FAD 41 | 43)

Long answer type questions — (Question number 41 to 43)

fr=fafed avafie Foet @ ar aor IRER 1 ST

Find the domain and range of the following real functions.

G) f(x)=-Ix G) fx)=v9—x2

HGT ST DING —

Find the conjugate of -

(3-21) (2+30)
(1+2i) (2-i)

@kt V3x+y =1 AR x+V3y = 1 & €9 @1 B T HRI
Find angles between the lines V3x+y = 1 andx+V3y =1
RS Y — (T3 HHIE 44 W 45)

Essay Type Question — (Question Number 44 to 45)
mmwsﬂwﬁm%@wm@ﬁml

Solve and show the graph of the solutions on number line.

x > (5x-2) _ (7x-3)
2 3 5

erar/ OR

1oﬁmmwmﬁ$@wmﬁmmmu%mm

Find all pairs of consecutive odd po

more than 11.

sitive integers both of which are smaller than 10 such that their sum is

(a4 b)' — (a—b)* T TR ARNY AT AT TR (V3 ++2)' - (V3—V2) &1 7 e A

Find (a + b)* - (a - b)*. Hence evaluate (V3+ \/7)4 -(V3- \ff)4.
3rerar/ OR
Ryg #IfT —

Prove that —

Zn::)’r nC' =4n

r=0

&)

®)

()

©)

V)

[1104"11] _ ' Page 4 of 4



